[(HEASE %]

[z 7T X]

J I A% gl kg (6 A0 D)

NRE—7 T A A 31a 5,170 M (Bi5A)
A 4\ 6, 270 M (BiiA)
¥ 3 [a] 8,470 M (BiiA)

XL —T TR P 1 (A 8,470 M (BiiA)
W 2 [A] 9,570 M (BiiA)

N == TR P 1 (A 8, 470 H (BiiA)
W 2 [A] 10, 670 F (BiA)

Ca=T I TR ¥ 1A 9, 570 M (BiA)
W 2 [A] 12, 870 M (BiA)

JSS 7 7 7 (hEk) H 4 5] 8,470 M (BiiA)
A 8 10, 670 M (BiA)

ZEFHE ¥ 1 [a] 8,470 M (BiiA)

A== F v R ¥ 3 [a] 12, 870 M (BiiA)

B 7 A W 3 7] 13, 420 M (BiA)
W 4 [a] 13,970 [ (BiiA)

BT T A ¥ 5 [A] 15, 400 M (BiA)

[KAZ T ]

A | kg (6 A0 D)
TIVE A I 9, 570 M (BiiAr)
TAHZA D 7,920 M (BLid)
T — B A L 6,270 [ (Fiid)
KRR i 7,150 M (Biir)

¥ 2 [\ 7,810 M (BlirA)
i 3 (e 8,470 M (BLir)
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